v ARk m
ATV IORTZ Ty —/ Rk

CMEROTYSIL - AVFYIOARILNA
EH 22110.

EmiA

UBROT Y21, AVTFYVIRTIUDY—, AVFYIRARILNALELTVET,
BuBER—-) . MEEMETT

LY =1 ERB1ER

« ATVLAM, AN
The thread is matched to the mounting blocks
for index bolts and index plungers, die-cast
(EH 22110.) and mounting blocks for index
bolts and index plungers (EH 22120.).

Z 00 Em

s BEJOYD, AVFYIARILN, 42
FYORTZUDv—f, T4 F v AR

- BEJOYO, AVFYTARILNA

TER
l2
Ly
ls
—@iE
% LZ7) N
m +—r 2l s @J\\
o — o kﬂ
Y
I3
FETEHR
& BE RN —EE [ 1
d, d; d, d, I I I3 Iy Is
+0,1 -0,05 +0,5
[mm] [mm] [mm] [a]
E
M12x1,5 4,2 24 12 10 16 11 5 1,5 4 4 17 22110.0464
M12x 1,5 5,2 24 12 10 16 1 5 1,5 5 4 17 22110.0465
M12x 1,5 6,2 24 12 10 16 11 5 1,5 6 4 16 22110.0466
M16 x 1,5 8,2 32 16 12 20 13 7 1,5 8 6 36 22110.0468
M16 x 1,5 10,2 32 16 12 20 13 7 1,5 10 6 34 22110.0470
M16 x 1,5 12,2 32 16 12 20 13 7 1,5 12 6 33 22110.0472
ATV LA
M12x 1,5 4,2 24 12 10 16 11 5 1,5 4 4 17 22110.0474
M12x1,5 5,2 24 12 10 16 11 5 1,5 5 4 17 22110.0475
M12x 1,5 6,2 24 12 10 16 1 5 1,5 6 4 16 22110.0476
M16 x 1,5 8,2 32 16 12 20 13 7 1,5 8 6 36 22110.0478
M16 x 1,5 10,2 32 16 12 20 13 7 1,5 10 6 34 22110.0480
M16 x 1,5 12,2 32 16 12 20 13 7 1,5 12 6 33 22110.0482

B1/452
NHALDER K5 10.8.2024


http://halder.com/jp/22110.0464
http://halder.com/jp/22110.0465
http://halder.com/jp/22110.0466
http://halder.com/jp/22110.0468
http://halder.com/jp/22110.0470
http://halder.com/jp/22110.0472
http://halder.com/jp/22110.0474
http://halder.com/jp/22110.0475
http://halder.com/jp/22110.0476
http://halder.com/jp/22110.0478
http://halder.com/jp/22110.0480
http://halder.com/jp/22110.0482

- AEEm
AFYIORTZ o v—RIL K

SR i

ESQAVTIATUA

FHEOETERICOVTR., BENOHRESZRRL TLEETL,

"H2A52
NHALDER K5 10.8.2024



